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Alexandriumspp.: 0
D. fortii: 0
D. acuminata: 10

Alexandriumspp.: 0
D. fortii: 0
D. acuminata: 0

Alexandriumspp.: 0
D. fortii: 10
D. acuminata: 20
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Alexandriumspp.: 0

D. fortii: 0
D. acuminata: 0

Alexandriumspp.: 10
D. fortii: 10
D. acuminata: 10

S EDREFER fH&EB: 7TH6H
BEI59 HIBH (cells/L)
HEME | KE . Dinophysis S
Alexandrium spp. D. fortii |D. acuminata |% DD Dinophysis
D. rudgei
OEBEA | 10m 0 10 20 50 D trip0e
s D. rudgei
Q@%i# 10m 10 10 10 20 D, trigos
Q@ESERN | 10m 0 0 0 10 7/4387K D. tripos
7/488K
@EBEHH | 10m 0 0 0 40 D. infundibula
D. tripos
®HE/E | 10m 0 0 10 0 /43K

X Alexandrium spp. IXFEFOMEBRE, D forti £D. acuminata IETHRIEEEZEDRERRE TSV TY,




Alexandrium spp. (cells/L)

AEH

OBERN (Q2F [(OEBEN (@ESH |OR/H
4826H - - 0 - 10
48278 20 0 0 - 10
5811H 0 10 0 0 10
5817H - - 10 0 10
5818H 20 10 - - -
5824H - - 20 30 10
5H825H 20 30 - - -
5A31H - - 20 0 80

6818 40 20 - - -
686H - - - 10 10
6815H 50 30 60 10 0
6822H 170 0 10 0 0
6829H - - 0 0 0
7H48 - - 0 0 0
7H6H 0 10 - - -
FER D. fortii (cells/L)

OBEN |(Qf# [OEBN |(WESH |(OR/HE
4826H - - 30 - 40
48278 0 20 30 - 40
5A11H 0 40 10 0
58178 - - 20 0
5818H 0 20 - - -
5H24H - - 40 20 20
5H25H 0 10 - - -
5H31H - - 10 20 100

6818 30 80 - - -
6H6H - - - 90 40
6815H 0 30 20 0 50
68228 10 0 10 20 20
6H29H - - 20 20
7R48 - - 0 0
7H6H 10 10 - - -
mED D. acuminata (cells/L)

OBERN (Q2# [OEEN |WESH |(OR/H#
4826H - - 40 - 70
48278 40 130 40 - 70
5811H 10 0 10 10 50
5817H - - 40 10 0
5818H 0 0 - - -
5824H - - 10 10 10
5H825H 20 30 - - -
5831H - - 60 10 140

6818 20 130 - - -
6H6H - - - 60 20
6815H 0 0 20 0 10
6822H 0 10 0 0 0
6829H - - 0 10 0
7H4H - - 0 0 10
7H6H 20 10 - - -

H IR Y [cells/L]

HIR Y [cells/L]

HIRH [cells/L]
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Alexandrium spp.
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